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Agent Behavior
	The turtles, randomly scattered throughout the model, will move around and add popularity to the patches that they pass by. When the popularity hits a certain threshold, the green patches will turn grey to indicate that they are now roads. When another threshold is passed, the patches will then become buildings that will in turn eventually become skyscrapers. Once there are 25 buildings in the model, the turtles will only traverse between the buildings.

[bookmark: _GoBack]System Behavior
	The initial setup and first few hundred ticks are generally random as turtles move without pattern, until first 25 buildings are generated as set by the rule. Once this happens, the turtles will stop moving beyond the boundaries of the buildings, and will confine themselves between the buildings. Their method of travel will cause more buildings to form within this boundary, causing the number of the buildings to exponentially increase, although they do not expand much beyond the said boundary.

Rationale for Agent Rules
	The randomness of the turtles’ travelling pattern allows the initial formation of the buildings to be generated without being confined to a fixed ruleset. The model should be driven by the turtles’ reactions to the user’s set condition, not predetermined.

Model Output
	The model, as it stands now, contains only the most basic of the framework to the final model that I envision. It does not have the essential measurement – flow of the money – required to answer the question it poses, and thus does not currently provide a good description of the system’s behavior.

Questions
· Code-Based Questions:
· What is the good initial number of turtles to start the model with?
· How should I implement the turtles’ movements (from each turtle’s individual home, to its workplace, back to its home, etc.)
· How should I implement the economy?
· Concept-Based Questions:
· What are some ways to represent a city’s political stance in economy other than focusing on the number of workers and businessmen?

Next Steps
	The next steps are:
· Expanding both the turtles and patches; the turtles will have three major breeds: workers, consumers, and businessmen. Each will have its own separate behavior. Patches, too, will have to be divided into factories, offices, and homes.
· A rule will have to be placed so that the construction of the buildings is laid out in a coherent manner like a real city.
· Once the above steps are done, the model will then move on to include a basic economy to explore the prosperity of the city.


Model Analysis
	As of now, there really is not much conclusion that I can draw from the model.
